HP2D36

SWASH PLATE TYPE PISTON PUMP

@ SPECIFICATIONS

MODEL HP2D36 . . .
. Dimensions of Shaft End(Spline Type)
Discha Rate(cc/
e fecrev) - MODEL | No. of teeth | Fisheicledaimm]|  Module | Pressureangle |  Standard
g b 20 14 29,634 12/24 30° i
= J408B
Max. Speed (rpm) 2200 G 15 23813 | 1632 30° i

% USABLE CIRCUMSTANCE
50, ISO VG46. -20~90°C

f—— %

PE1 I [

BA TN

'SAE J744—127-47

—‘IL K
= PF1/4

|| AR VENT HOLE i )
AI(FF3/2) / ‘ Flange Mounting face for Suction Port
DELIVERY PORT
& o E (mm)
HEF—He: a 50.8
(2F3/4) ﬁ b o
A2(PF3/4
DELIWVERY PORT I c E55
d | M12.75P DP1S
R
@ DIVENSIONS -
MODEL SPLNE A B |C D|E|F|G|H|I|J K|L|M N|O| P Q|R|S
14T 312
HP2D36 1605 131| 21 112|126 127 | 65 |50.8| 395 | 124 [186.6| 44 = 35 [136.5204.6234.5160.5 165
15T 25




HP2D36

SWASH PLATE TYPE PISTON PUMP

@ SPECIFICATIONS
MODEL HP2D36
‘ Dimensions of Shaft End(Spline Type)
Discharge Rate(cclrev) 36
MODEL | No. of teeth | Pihcitiedamm)|  Module |Pressureangle | Standard

Mas Ervatis (Mycat) 260 14 29.634 12124 30° Skouis
Max. Speed (rpm) 2200 e 15 23.813 16132 30° SAE

' J498B

#USABLE CIRCUMSTANCE o
507, ISO VG468, -20~90°C . HYDRAULIC CIRCUIT

PF1/4
AR VENT PORT-R

PF3/2
DELVELY PORT-AZ E]t

~d
E b C 4—d (mm)
@JE -
-4 & D a | 508
DELWVERY PROT-A3 & b 88 3 g
PF3/4
DELWELY PORT-A1
: il ) c P55
_ " d |5 opte
PF3/8
JRAIN PORT-R1
@ DIVENSIONS ity
MODEL |SPLINE| A | B | C D |E | F|G H I | J|K|L| M| N|O|P|aQ
14T 31.2
HP2D36 173.525.5 127 | 65 | 51 [317.5 124 186.6/204.6|136,5/122.5 131 | 82.5| 112 | 126 | 181
15T 25




HP2D36 FOR HITACHI @

SWASH PLATE TYPE PISTON PUMP

@ SPECIFICATIONS
MODEL HP2D36(HITACHI) o ,
. Dimensions of Shaft End(Spline Type)

Discharge Rate (cc/rev) 36

MODEL No.of teeth |Pich cick danm)| Module  |Pressure angle| Standard
Max. Pressure (kg/cm?) 260 SAE

H P2D36 14 29634 12/24 30° ek
Mec Speed(rpm) 2200 (HITACHI) | 15 | 23813 | 1e82 | 30° | 2%

# USABLE CIRCUMSTANCE

50, IS0 VE4E, -20-80 HYDRAULIC CIRCUIT

cid0 SPUNE. LL
III ﬂﬁ% ) _EE[ a
= _|: -
A |
PF3/8-19
SEAR PUWP DELIWERY PORT
4-¢17.5
‘ Z PLDe
AR VENT PCRT R J‘
PORT SIZF : 271 /4-19 [ . Flange Mounting face for Suction Port
pF5/4 @
CELIWVERY PORT—AZ
¥ 5 (mm)
[ =N :
£ i a 50.8
_ 1 b 88.9
/ c @55
.= 3 d | W5 P18
i
@ DIVENSIONS N

MODEL (M| A|B C|D|E|F|G|H|I|J|K|L|M|[N O|P]|Q

HP2036 | W11y, |10 2 137 | o |aas 37 1007 102 o020 12| 131 | 2| 115 | 1 | 18
(HITACHI) [ 157 o B i i i '




HP2D36 FOR HITACHI

SWASH PLATE TYPE PISTON PUMP

@ SPECIFICATIONS
MODEL HP2D36(EX75) . . .
. Dimensions of Shaft End(Spline Type)
Discharge Rate (cc/rev) 36
Max. Pressure (kg/cm?) 260 MODEL | No. of teeth | Pichciclediimm)|  Module  |Pressureange | Standard
B, Speed () 2300 ":Ei?gf 14 | 20634 | 1224 | 30° |SAE498B

\

# USABLE CIRCUMSTANCE
50°C, 180 VG46, -20~80T

= |
| T Y
VN (77 %
S,

: | n . Flange Mounting face for Suction Port
—TO : = )
]
& i) i /@/—u a | 429
‘ L) Q b | 778
PG i - S e
NR\TErIlT‘:ﬂLE .6} -
d |[M12x1.75P Dpi8
B L_q_?}
Q
Q P
@ DIVENSIONS ol
MODEL | A B |C D|E|F|G|H|I | J|K|L|M|N|O P |Q

HP2D36

(EX75) 124 | 115|132 |141.5/17.5| 165 | 127 | 8 |58.7|390 | 195 | 182 | 110 | 132 | 200 | 225 |165.5




HP2D36 FOR HITACHI

SWASH PLATE TYPE PISTON PUMP

. SPECIFICATIONS
MODEL HP2D36(ZX70) o .
. Dimensions of Shaft End(Spline Type)
Discharge Rate (cc/rev) 36/28
K B re ik 260 MODEL |No. of teeth | Pichcicledamm)| Module  |Pressureange | Standard
HP2D36 5
Max. Speed(rpm) 2300 x70) 14 29634 12/24 30 SAE 4988
| G1 Al A2 G2 G3 A3 Ad
'I ol '_"{L:.EE 1 ’;//JL}‘(\JIJ ’/
'_ QT) f-r’J gy g{' ; * )
A L AT i e il [ *
| 3\%—@/_“% i le—Lm
! 81 R1 53 i;;
G e | HYDRAULIC CIRCUIT

.Flange Mounting face for Suction Part .Flange Mounting face for Suction Port .Flange Mounting face for Delivery Port

e

: o O
.5 et
b (mm) (rom) ()
MODEL al|lb|c d MODEL el d MODEL a|b|c d
HFZD35(Z)(TO] 42.9|77.8 | @39 | M12x1.75P DPZU AIOVOZ8LR |30.2|587| @32 | MIOX1.SP Dp18 AIOVO28BLR | 26.2 | 52.2 | @19 [ M8x1.0P Cpig
DELMERY POfT K I
a3 \\ H £
DELIVERY PORT o " 2
e | Iy
olof J@ (o) o gE ’f ﬁ;\\\ i
- 7 @ E | \ &/j / 'f
il NAF S
Jmfgm% 2 e N
\NR:EFF‘H{:HI
m Py B
M
P
@ DIVENSIONS ol
MODEL A B Cc D E F G H | J K L M N (0] P
HP2D36
x70) 124 | 115 | 132 [1415{17.5| 165 | 127 | 8 |58.7 | 453 182.2(132.2200.7| 315 | 386 | 433




HP2D36 FOR YANMAR

SWASH PLATE TYPE PISTON PUMP

@ SPECIFICATIONS

MODEL HP2D36
(YANMAR-VIO70/75) . Dimensions of Shaft End(Spline Type)

Discharge Rate(ccirev) 36 Pitch
MODEL |No. of teeth circledia Module P;e:;‘:e Standard

Max. Pressure (kg/lcm?) 260 (mm)
HP2D36

Max. Speed 15 225 15 20° JIS

ax. Speed (rpm) 2‘300 \\;ADNTHSQE

A1 A2 A3 PB1PB2PA
it bl I I

% USABLE CIRCUMSTANCE
50°C, 180 VG486, -20~80T

i
(R

_(_-1 A{PF3/4)

*DELVERY PORT
A3(PF3/4) ¢
*DILWERY FORT

ML

. Flange Mounting face for Suction Port

|

3} 4 3 (mm)
SN
tfr/” a 50.8
. b 88.9
it/ | ) | e s | .
*LRAIN POST/ L i
i - = 5 d M12X1.75P Dp20

@ DIVENSIONS (mm)
MODEL A B C I D E F G H | 4] K E M N (e} P Q
HP2D38 351
YANMAR 124 1 1. | 4725 | AvE 165 125 8 523 | 351 285 182 110 132 200 230
VIOTO/75 356






